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ocess of mMapping aspects of
d T Thurstone-type
“Omain ont, Olher aspects of a range Thurstor P

ding to SOme rule of

:':rrru?:smn-:fee1r:r:_“ Which of the r'cl'l'u-.wng IS
Which of the following

Correct fegarding the above mentioned  1gp.
Stalement? sampling?

(A) Moliv;-“rih';ri (A) Systematic Samphng
(B) Measurement (B) Purposive Sampling

(C) Minimalist () Stratified Sampling

(D) Mapping (D) Simple Random Samph‘ng -
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Desc nptive Study
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of a u‘.-.unmlrmly, or
fards an 188

v

C i“g.;‘.._‘.iga[.'l_‘_ln;-“i.l study

D) Ex_moratory study

Which of the following is not

good research?

(A) Systematic study

(B) Logical study

Empirical study

Formalism

the criterion of

g ]
-~

(119

Fotal Numbey of Pages : 14
Which of the

.’:,Hl,-.-.r.-'u:" IS nol a ¢ 458 of

syslam: nic biaa?

.:f\,_l H:ju‘l_u.,' 0ias in the reportine
(I }) |'_'J-:_.:z_._-fr| nacy .
{C} Defectiv measuring device

Inappropriate sampling fr

a
i

i

Which of the following is related
probability sampling?

with

(A) Deliberate sampling

(B) Judgemental sampling

(C) Chance sampling

(D) Purposive sampling —
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B) I_\‘,I,;\.:: Work load
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(D) {_IJH\:'n_L';r'.i;nmc;f .Jh_-_’r_:i:;r'rm

S0, Wha[ IS the Correp
by p

Clname of the boopk Written
Y Davig Oab()me

and Teg Gaebler in 19929
(A)

M. SUNVey researcy What is the meaning of
oPen endegq Questions?
(A) The Questions are apen to g|.
(B) The questions haye No oplions.
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92 A good piece of research follows the
ff;ifu'm.ruj four phases
l. Framing of objectives
1. Analysis of datg
III. Coh‘ecﬁng data
V.

Interpreting the findings

What is thejr Correct sequence?

(A) LU M and v

B and IV
(© IV, 1l ang |
D) LI, 11 ang 1%
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« thie U [ computers and Informatien

w1y 18 sunlized ¢ a very alfoctive

| improves delivery of services \o

ant of people through

1 of information

. e and transpare

cy in the

»orking of govemment

ul in innovations and

ntroduction of new ideas and
concepts in the performance by the

emment and the people.

Effective linkages between citizens

and the administration ~*

Itis not ill-suited for Comprehensive
oring and assessment of the

IO

performance of the government.

Which of the statements given above is/are

(A} I, I, Wand V

B) I, 1, W and VI

) LI Mand Ve

) I, IV, V and VI

71}
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D)

Hesponsiveness

Which one of the following s et 2
115 el an

of Kautitya Saptang T

Eament

0Ty \Seven Opan

Theory)? i

(A) The Swamin

8]  TheAmatya

(C)  The Janpada ‘

) The Ambassador

When did the President of India give his
assent to the Right to Information Act,

20067
(A) 15th March, 2005
(B) 15th April, 2005

(C)  15ihMay, 2005

@) 15t June, 2005
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macily

It has iy In rational choige
(8)
e 4 (C) Kamalska
(o] The Methodology of pubi 2L 8 ENDS
! 2 y FRIE
IS that of ECOnDmies, 4 (D) Kerala 2 =
egarding
the following statement regarding
D) The origing of this Spproach may 84,  Which of the h.\llo\.fn.Jl . i
| Govemnance [ndex is comect
be found in the work of Herbert Good Governance |
Simon, Mary Parkar Fallet and pay
Weber,

e
(A) The Good Govemance Ind

launched on

e occasion of Good

82,

Wha Said, “Gavernment:
to focys soclety on

mance Day on 25 December

G

5 foremost job is 2010

achieving the public
interest. Governance js g Way of describing
vernment and jts
political, social, and

(B) The Good Governance Index is not

a uniform tool| across states o

the links between ao
broader environment -

assess the status of govemance.
administrative *

Good Govem
L rovide
(A} Sam Pitroda 0 provide g

oIS
ualitative data tg

Gompare the state of

governance
inall states ang Union Teri es.
{B) Nandan Milekan

D) Good Gavermnance Inday not helpft

: 2 to the states ang Uniop Territories
(c) Thomas B, Riley to formulate ang implemant Suitable

strategies o, fmproving
) Mark Phil govemance
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he lollowing

policy

nodel 18 not r:|'.r'r_|:_|-,.>,

m (Mame of the thinkers)

ade J. Pressman
and

| A. Wildavsky

- 1B Bottom-up

R. Wetherley

and M. Lipsky

model Herbert /
Grauss

madel Charles

Lindblom

Jtic and data-based alternative 10
Intultive judgments about the effects of
policy or policy options, which is used for

proble

m assessment and moniloring, s 8

sefore the fact’ decision tool, and for

evaluation is known as:

()

Poliey r.-,.,,ll,._l.l i
(8] Policy Me
(C) 1"-".'; :
(£) Policy Oulcome
Giv

Ven below are tie

labelled as Assertign (2} an e
; L o

labelled a5 Reason (). Fead the =

and choose 8 Comect answer 1
<L ANGwer |
code given beloy

Assertion (a): Yehezekel b

Uror

Lindblom's 'Incrementalist Mo
decision-making guite cons
unsatisfactony.

i)

e and

Reason (r): Dror believes that incremental
approach is unjust as it creates a gap
between those who have more power and

lhose who have litle power.
Codes:

(A) Bath (a) and (1) are true and () 15
\he correct explanation of (3).

(B) Bath (a) and (r) are trus, but (1) &
not the correct explanation of (a).

(C) (&) is true, but (r) is false,

(D) (a) Is false, but (1) is e,
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at middle levels.

; C)  OnlyInput Analye
76. Read the twa statements given below and
answer the following questions choosing the

Impact Assessment
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Codes:
LRSI
&) 2 4 y
T Commission for ) 1 2 3 4"
statutory
{C) 3 2 4 1
(8} 4 3 2 1
73, Choose the incorract mateh in the
ymmission formulates the following
C al and legal uards (Name: of (Name of
fo fhe book) {ne writer)
) Bubiic policy
making re-
examined Yehezkal Oror
(B) Futare Shotk Alvin Toffles
{C) The Ariof
] —_ Judgament Geaffrey Vickars -
Commission advises the i
; () The Science of
vent on all policy matters
Muddling
Through David Easton
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and members

s and union
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(139 (|
Which of tha fallowin NOT
Wing Is NOT earractiy
matched? "
List| List4
Calegory of
L/
Resenvalion
(A)  Other Backward

Class (OBC) 27%
(B} Economically

Backward Section

{C) Schedule Caste
[SC) 15%
(D) Schedule Tribe

(SC) 1.6%
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id ol India

sy Fund of India - Article

e two statements, one
Assertion (a) and the other
n (r). Read the statements

oose the correct answer from the

assertion (a) : In policy cut motion the
mount of demand is reduced to Rs 100.

Reason (r) : In token cut motion the amount
and is reduced by Rs 100 .

Both (a) and (r) are true and (r) is
correct explanation of (a)

B) Both (a) and (r) are true and (r) is
not correct explanation of (a)
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Tont g
Ml Numbyey of Pages ad
(C) (a) s trye """J".l.y-;r
(8) (8) I falae Bt (1) s trum
58 Match | sy I and List.{| i salas
ANSwear from thes Codas given }-_..'a,‘.;_j”'.l'r'r
LY e —— 1 iy
Unlartaking (I Artels 74
Codes:
P 0 R 5
A i " " .
(B) i i Iy =
(C) ] I i iv
(0) i v i it /
59.

Which of the following is not correct about
Memorandum of Understanding (MOU) in

India?
(A) The MoU system was first :
introduced in India in 1988, '
(B) The MoU system was introduced in
India on the recommendations of '
Arjun Sengupta Commities Report ,
(1984). '
i
(C) The first set of MoU was signed by
four CPSEs for the year 1989..4 o/ '.
(D) The objective of the MoU system :

is to evaluate the performance of
management through objective
criteria.
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*iNG Navratng tatu

20 on Indian st CK exch inge
I Minimum prescribec Public

"""'f'li"l-.' under SEB]

Tage annual

Imover of morg

29,000 crore during the last

IVerage annual net worth of

nore than Rs. 10,000 crore during
the last 3

oy 2 Yoars.,
An average annual net profit o more
than Rs, 25,000 crore during the Jast

3 years.

VI, Should haye significant global
Presence/international Operations,

Which of the sta tements given above isfare
Correct?

(A) L, v Vand Vi
(B) LIV Vand vi
C) LIL L IV and v/

@) LI, IV,Vand Vi

33-A 16
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Assertion (a) |
- — y
1} J
J Imer ‘ .
o o 3
1 of the GS
tv of no
il its meeling by a majority o
s . f the memi

J/4ath of the weighted votes

present and voting

Reason (r) : The me
would ensure harmoni
aspects of GST between t

States as well as amo

Codes:

7

(A) Both (a) and (r) are true and (r)
correct explanation of (a)

{B) Both (a) and (r) are true and () is
not correct explanation of (a)

(C) (a) is true, but (r) is false

(D) () Is false, byt (r) is true
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f P L administration a
nled .-I.\||-1:1ng.|,.||
1en
F.W.Riggs
(€ Edward Weidner
i
b )] John D.Montogomery
When did Jammu and Kashmir join the
Goods and Service Tax?
(A) 4th July, 2017
| (B) 5th July, 2017
(C) gth July, 2017
I (D) 8th July, 2017 ~
I A I
52 Which of the following is not a principle of
budget-making?
(A) Budget should be balanced.
(B) Revenue and capital budget should
be prepared separately.
(C) Budget should be prepared on cash
i basis.

D) Budget should not include rule of
lapse.

33-A =

Uotal "--um]n-r of Py
Afrpa
Res 2 39
( One |||I r T .
. i thie foallew
VOWINg stae
alarr

Context of Pyt f
f | iblic F INgncial

» I he

""r""q':"'-gv.l

System (PFMS)

| PFMS iz
1S is a web-basad .

mline
soltware apglicat hi

on 'TT:'ff:'r.;;-r1 and

impleme 3 1 e

plemented by .‘J‘IHH—:,{” af
3]

Finance Geove
& = atvermment of ;,-.,-_ha

1l PFMS started during 2009 witn the
objective of tracking ;um..:
- 3

released under all Plan schemes
emes

of Government of India,,

. PFMS provides Varioys
stakeholders with a real time,
reliable and meaningfi)

management information sys“:em

dnt =n Bfetive detEon smoon
system, as part of the Digital India
initiative of Government of India.

V. PFMS has not established interface
with the treasury systems of states.

Which of the statements given aboves islare
correct?

(A Illand IV
(B) [l and IV
|, ltand lil

Il 1l and Ve
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VO

: .Il:_-.'in.l-“.._ Given below anel
18 o), iy :

L ITITT .
Tl J qQui ey f|.|||.||”||'||,

SWOr 1a
'rnu._ Using the Codas Qivar

Y n India Social
o

'Ough Publie Meetings
al

S ang SMoups nically 883055 the
eme ) 158 th

of

auditg are

N which
Nlatin,
on 5_1u.wr_\rr|nr:'_-ul

N i‘t‘hl_‘f[-};; and laws

Both (@) ang )

are frue ang (r) is
the corregy

eXplanation of (a),

Both (@) and (r) are frue, but (r) is
not the Correct eXplanation of (a).

(C) (@) is true, but (1) is falge,

(D) () is false, pyt (r) is true.
Consider the following statements jp the
Context of legislature Powers of President:

The President €an make two
Nominations of the Anglo-Indian
community fo Lok Sabha.

Il. The President ensures that a pering
of more than six months should not

14
33-A
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Sabha by two vear
=dbna Dy Iwo years,

foll ing statements given
Which of the following statements g

above is/are correct?
(A) il and |V

(B) land Il

(C) land I

(D) L lland (1]

Match List-] and List-ll and select the correct
answer from the codes given below:

P Q R S
A 2 1 3
B) 4 2 3 4

G
(L]
+a
ha

(%]
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44,

h l:t'n{'!l_lnll,il'.-"_i the recruitment of highar civil

service of France, india and UK would ba?
(A) Inter-institutional analysis

(B) Intra-institutional analysis ,
Cross-national analysis

D) Cross-temporal analysis

Given below are two statements, one
jabelled as Assertion (a) and the other
labelled as Reason (). Read the statements
and choose the correct answer from the
code given below:

Assertion (a): In the study of Comparative
Public Administration, the Bureaucratic
System Approach is the most influential and
most useful.

Reason (r): Bureaucratic model is set in
large framework that spans history and
culture and relates bureaucracy to important
societal variables.

(A) Both (a) and (r) are true and (r) is
the correct explanation of (a).

(B) Both (a) and (r) are true, but (1) is
not the correct explanation of (a). -

(C)  (a)is true, but (r) is false.

(D)  (a)is false but (r) is true.

45

48.

13
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Total Number of Pag,
€513

W

hich of the lnllowing altribyte

associated with g Prismatic o

1. Attainment ) 3001‘:1‘;?
. Particularism

. Selectivism

iu’ Poly-Functionalism

v Uhiversaism

Codes:

(A) land 11|

(B) W and v

(C) land IV

@)  landVv
S ot
(SDGsy
L.~ Agenda Sustainable
Development was adapted by )
United Nations member states in
2015,

II, United Nations Depariment of
Economic and Social Affairs
(UNDESA) provides substantive
support and capacity-puilding for
the SDGs.

Mil. There are 17 Sustainabie
Development Goals with 167
associated fargets.

iv. The first Sustainable Development
Goal pertains to ending hunger,
achieving food security and
improved nutritien and prometing
sustainable agriculture.

for

Codes:

(A) land Il
B) [land III
(©) Il and IV
D) |and IV
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1) ¢ selact tha n : : : _ ) Wl
om the !l and selgct the correct 40 The office of Chief Secretary was brought

Codas given below:
: Z ! 'V 1 L ~ + =
l'\\\x i on par with the rank of the Secretary to the
Government of India on the

recommendation of :

(A) P.H. Appleby Report

() Warren Hasting |
(V) Lord Curzon __! (B) Santhanam Committee Report
_J_{:—‘_}\__I_i!:.'. e, o |
— |
Select the corrar (©)  1st Administrative Reforms
) Correct answer s - P :
iven pejgy: S1erby using the codes Commission
T D)  2nd Administrative Reforms
(A) i i Gy v Commission
®) : ii i v 41. Which of the following models are not
©) ii iv i associated with Fred W. Riggs?
@) Vi i (A}  Structural-Functionaf approach
3. Wi
i ich of the following functional items are
. ; - ical cological
Mentioned in 11tk Schedule of Indian (B) Non-ecological to ecolog
Constitution? :
(C) Means-ends analysis
I Non-conventional energy sources
D Systems approach
Il. Market and fairs © i ok
1L, Rural Housing 42, Which one is not a range of analysis of
A 2 comparative Public Administration?
V. Higher education
Select the correct code : (A)  Cross-cultural analysis
(A) land IV (B) Cross-temporal analysis
(B) lll and IV
(C) Inter-institutional analysis
©) I, lland IV
(D) I, lland lif (D) Closed system analysis
33-A 12 Paper-I1
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Given below are two statements, one ye= ﬂt:n;:u

labelled as Assertion (a) and the other = kg card of MGNR

labelled as Reason (r). Read the statements Stpnvir Ei:

aind choose the correct answer from the

code given below ) It is Geographical Chan
MGNREGA, A

Assertion (a): 73rd Amendment Act gave

constitutional status to Gram Sabha, . AMRUT stand for -

Reason (r): The Balwant Rai Mehta (A) Atal Mission For Reform Ang

Committee  Report  recommended Transformation -

Constitution of three-tier Panchayati Raj

structure. {

s (B) Atal Mission For Rejuvenation Ang

. Urban Transformation
Codes:

(C) Atal Mission For Reorganisation

A h (8) and {r) are t i
(A) Both (a) and (r) are true and (1) is And Urban Transformation

the correct explanation of (a).

(D) Atal Mission For Rejuvenation And

Both (2) and (r) are true, but {r) iz
oth {g) ad () 0 Unit Transformation

not the correct explanation of (a).«

C?

a7. Which of the following is not mentioned in

( a) is true, but (1) is false.
© @ 0 T4th Amendment Act?

(D) (a) is false, but (r) is true. . :
(A) Metropolitan Planning Commitiee™

35.  Whatis GeoMGNREGA ?
(8) District Planning Commitiee

(Af it is a software solution to Photo
Geotag all completed assets under (©)  Nagar Committee

MGNREGA.
(D)  Ward Commitiee
(B)  Itis Job card under MGNREGA.

Paper-Il
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om the
Assertion (8): The Goveror of & stale s g
nomina| Executive,
Reason (r}: IJFin'imH-'--'-tary farm of
mment in the state s provided jn the
constitutional Provisions,
(A) Beth (a) and (r) are true angd (r) is
the correct explanation of {@).a
(B) Both (a) and (1) are true bul (r) Is
nol the corract axplanation of (a)
33-A
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Who has the Power to make |aw

(D) State Judiciary
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' 1 win X vill an
4 Istration "V i
P v ind India oK
Utuent ambily of
¥d on various jrounds. 'Which one of

howin J 15 Nnot rus BOarding thal”

Constituent Assembly was not a

representative body
It was nol & sovereign body
twas dominated by Congreas Party-

it gave equal representation to all

COmimuiInity
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he New Pybije Sorvies

1" The Rair rerting £
Herbart Simion ! reT ey

Codaesg
\wcceplance - l",l\r;-")[‘*.'\r
(A) 1L, v
Constructive Conflicts - M.P. Follet
(B) (AT,
Structural-Functional Approach -
F.W. Riggs (€ LAV,
Which of the following conceptual approach O VL

s not given by Ferrel Heady 7

20.  Which of the following is not discussed
Al Wrerfied traditiongl by Dwight Waldo as basic characteristics of
the classical approach to Public
? : Administration 7
. Nomothetic studies
(A) Acceptance of the politics-
(C) seneral Syslem Model Buildin o -
) Goneral Systam M d administration dichotomy
0 Middle-rang formulation \ ;
L)  Middie-range Theory fo (B) A generic management orientation.
a search for principles of
Which of the following is correct administration through scisntific
chronological order of publication of the analysis
following books ?
(C) An emphasis on decentralisation of
I. Politics and Administration executive bureaucracy
Il Industrial and General Management (D) A commitment to democracy
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W are two :',I.':!.r:rr-r:nr' ane

\SSertion (8) and the oOther
r) f—fl’:.-'r.'j the .",JFﬁF':H.-’;FlT.':

+ dnswer from the

f‘-Cl';ur{J‘lr;(_; to Chester

._,ijsatfrmg are

L;mq—l’: ved, as
Ehey are effective

dnd efficient

e than fraction of their Possible

Contribution to Organisationg effort.

(A) Both (a) ang (r) are true ang (r) is

the correct &xplanation of (a).

(B) Both (a) ang (r) are frue, pyt (r) is
not the correct eXplanation of (a).

€ (@) is true, bu (r) is false.
D) (@) is false byt (r) is true.

15. Which of the following books is written by
Herbert A. Simon 7

l. The Sciences of the Artificial (1996)

II. The New Science of Management
Decisions ( 1960)
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Total Number of Pages
[ Human Problem Solving (1972)

IV Personality and the Organisatic

(1957)

Code

A) I, Hand i
(B) | and

rf,,u Iland IV

D) lland IV

Given below

labelled as A

labelled

code given below -

Asserfion (aj: Fit Riggs is the foremost
exponent of the ecological approach in

Public Administration,

Reason (r) : Ecological Approach in the
study of Public Administration was initiated
by Robert Dahl.

Codes :

—

A) Both (a) and (r) are true and (r) is

the correct explanation of (a).

(B) Both (a) and (r) are true, byt (r) is
not the correct explanation of @.

(&) (@) is true, but (r) is false.

(D) (@) is false byt (r) is true,
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entrallzation ls sultat

for deling

vith emergency siluations,

sconomy Iy

" maximum control

ilire organisation

5 the minimum utilisation

e numan and material resource,

ements given above isfare

(A) land IV
(B) litand IV
C) Iland IV

(0]} i, Hand [l

) has defined the term Authority "as the

cie minication in a formal

sation by virtue of which it is accepted
by a contributor to or member of the
ion as governing the action he

orga
confributes; that is as determining what he
does or is nol to do so far as the

organisation is concemed" ?
(A) Chester Bamard

(B) Herbert Simon

T IT ON

Google Play

Total Numbe

her of Pages . 1
(C) Efton Mays
(D) M.P. Follent
Who has writfen e Booy Dynam

fnami

Admintstration® 7
(A) Chester Bamard

(E) Herbert Simon

[C)  Elton Mayo

Dy M.P. Follett—

Who said thal "The bureaucracy is a dircle
from which one can't espace® 7

(&) Max Wabar

(B)  KarlMarx

(C)  Anthony Downs

(D)  Robert Presthus ¢
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(5] h.lH[JL'l'rmJ Slalen

POsitig, 18NS in congyy

t.'hl.‘ss;:ﬁr‘..rrmu
l.
Uniteqy Kingdom has position
t‘-lassiiu‘..‘-‘:[iorl
Il Pasiti
“OSition C)aec: iCation i
1( Illo.-h_li.h_.ﬂfm!] 15 alsp known
as duties E!:is:alfim!mn.
1,
A Mumber of Similar POsilions py
roqdhor form a clas
v iti

Posrtrons € groypeq on the bagjs

of duties. responsibi!ities and
qualiﬁcaljons.

COI’TGC[ ?

B langy
B Jang
©  langy

(D) Il Wl and [y

Government Printing Press s an example
of :

(A) Line agencies
(B)  Staff agencies
(C) Auxiliary agencies

(D) All of the above

GET IT ON

Google Play

Fotal Number of Pages : 32

Match List- 1 ang List- [l and select the correct

answer from the codes given below

Selectthe correct answer by using the codes

given belaw -

A 3 2 4 1=
B 3 4 1 2
© 3 2 1 4
0 3 1 4 2

Which of the following is not correct about
Whitleyism 2

(A) This system was started in the
United Kingdom.

(B) This system first started in public
sector than in Private sector.

(C) It is a common Platform for
negotiating varioys toncerns faced
by employees and government,

(D) Whitley Councils developed
harmonioys relationships among
the staff and the govemnment.
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lalements, one

ran (a) and the of
1(r}. Read the slatements

arrect answer from the

Assertion (a) : In contemporary times, the

Public and Private

@) and {r) are true, but (r) is

' he comect explanation of (a).
(@) I8 true, but (1) Is false.
18] s Talse but () is true

When did the inter. disciplinary approach
émerge into the study of Public
Administration 7

Toim) Number of o,

ey
A m
g i 150 iy

iy e hotony,
B ’
( Adimnii ) rincitias Phgs

Identity Phiase
D)

Ahrs Phagy
Wha said. "While T e— Y coma
SO

and go, minie ters m

Bdministration of

foravee 7

(A) Paul H. Ape eby.
(B) Ramsay Bryea Musir
(C

) Sardar Patgl
(D) Paul Pigors

Given balow are Iwo statements ong
labelled a5 Assertion (a) and the ofher
labefled as Reason {r). Read the Statements
and choose e correct answer from the
tode given balow

Assartion (a) : Leadership motivates the
groups and in the process, improves
organizational performanca.

Reason (r) : Behavioural sCience research
has focussed attention on the kind of
leadership behaviour that could ba related
lo leadership effactiveness

(A) Both (a) and (r) are true and s
the correct explanation of (a) -

(B) Both (a) and (r) are true, but Nis
not the comact explanation of (a).

(C) (a) Is true, bul (1) is false.
D) (a) is false but (1) is true.
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